=| SVEDBERGS
8 (GB> =

Thermo 150 cc
95953 (Krom, Chrome), 95952 (Matt/krom, Matt/chrome)

95953 (Krom, Chrome, "Eco-Flow")

(1)



959 52 (Matt/krom, Matt/chrome)

(2)



95953 (Krom, Chrome, "Eco-Flow")

Temperatursparr / Temperature lock

Temperaturring / Temperature ring

Temperaturhandtag / Temperature handle

Skruv M4x16 / Cross screw M4x16

Temperatursparrfjader / Temperature lock spring

Temperaturknopp / Temperature knob

Pos. | Ant/Qty Titel / Title Art.No.

1 2 Téckbricka / Cover nut

2 1 Skruv M4x12 / Cross screw M4x12

3 2 Blandarhandtag / Mixer handle

4 2 Temperaturspérrfjdder / Temperature lock spring

5 1 Knopp "Eco-flow" / Knob "Eco-Flow"

6 2 Lasning temperaturspérr / Locking for temperature lock

7 1 Téckring / Cover cartridge

8 1 Spérr "Eco-flow" / Locking "Eco-flow"

9 1 Skyddsbricka keramisk tatning / Protection ceramic cartridge

10 1 Keramisk tétning / Ceramic cartridge 92502
1 1 Blandarhus 150cc / Mixer body 150cc

12 2 Gummipackning med filter / Rubber packing with filter

13 2 Lasring for backventil / Locking ring for non return valve

14 2 Backventil 121/ Non return valve 12 |

15 2 Sate for backventil / Seat for non return valve

16 2 O-ring 16x1,5

17 2 Anslutningsmutter / Connection nut

18 1 O-ring 17,17x1,78

19 1 Duschslangsinfastning Gz (R15) / Shower hose connection G2 (R15)

20 1 Transportskydd / Protection

21 1 Termostat / Thermostat 98867
22 1 Temperatursparr / Temperature lock

23 1 Temperaturring / Temperature ring

24 1 Temperaturknopp / Temperature knob

25 1 Skruv M4x16 / Cross screw M4x16

95952 (Matt/krom, Matt/chrome)
Pos. | Ant/Qty Titel / Title Art.No.

1 2 Tackbricka / Cover nut

2 1 Skruv M4x10 / Cross screw M4x10

3 1 Flédeshandtag / Flow handle

4 1 Téckring / Cover cartridge

5 1 Insats flédeshandtag / Reduction flow handle

6 1 Keramisk tétning / Ceramic cartridge 92502
7 1 Blandarhus 150cc / Mixer body 150cc

8 2 Gummipackning med filter / Rubber packing with filter

9 2 Lasring for backventil / Locking ring for non return valve

10 2 Backventil 121/ Non return valve 12 |

11 2 Sate for backventil / Seat for non return valve

12 2 O-ring 16x1,5

13 2 Anslutningsmutter / Connection nut

14 1 O-ring 17,17x1,78

15 1 Duschslangsinféstning G2 (R15) / Shower hose connection G2 (R15)

16 1 Transportskydd / Protection

17 1 Termostat / Thermostat 98867
18 1

19 1
20 1

21 1

22 1

23 1

24 1

Lasning temperaturspérr / Locking for temperature lock

= SVEDBERGS

| 2010-06-15 |
(3)




